Farmhouse in Qrendi



Qrendi, South



€1,382,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²) : 394

Bedrooms: 2

Reference No: 240231061-21

Farmhouse - For Sale - Qrendi

QRENDI - FULLY DETACHED FARMHOUSE - having 16 tumuli of land in a very quiet area. This unconverted farmhouse comprises a Kitchen/Living area, 2 double Bedrooms, 2 Bathrooms, a back Garden, and a Roof Terrace with air space. Once converted it will be turned into a beautiful home, with a well-kept Garden having ample space for a Swimming Pool, surrounded by a spacious Entertainment area. The property is being sold Freehold and has the potential for a Garage with easy car access.

Features

- Terrace
- Space For Pool
- Roof Terrace

Rooms

- Kitchen : 4.9 x 6 m (29.4 m2)
- Living : 5 x 4 m (20 m2)
- Double Bedroom : 4.5 x 5.2 m (23.4 m2)
- Double Bedroom : 7 x 6.1 m (42.7 m2)
- Box Room : 6 x 5.3 m (31.8 m2)
- Bathroom : 4 x 2.5 m (10 m2)
- Bathroom : 3.5 x 2 m (7 m2)
- Open Space : 5.5 x 7 m (38.5 m2)
- Open Space : 6 x 8.5 m (51 m2)
- Open Space : 7.5 x 15.5 m (116.25 m2)



Gallery











Alfred Cutajar RE/MAX Centerparc - Qormi

M: 79020586 E: alfredc@remax.com.mt T: 27344344

RE/MAX Centerparc - Qormi Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta